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Question Id : 9209069618 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

T fAaw BHRT AP Ud 81 1929 A I H1 U Heaqul SHEdeH agR A wdl 9t &
fpR gon o1, o wifa dieu= faa® <R Mad o Adrsil @1 e IRon § &g A
HRA & QUiey I 3fTelg 1 Wit &3 &1 ufas &1 4t f& o/@ a@ a2 &1 guf arefiar g1
foren S, gHR SRHad Wifd SfiR ©F & TiY gl o | 341 Ufasn & 87 YRddRil g2 ad 26
SE] BT AP BEAP Gevld o, [ 8H S B quf WIefa JeT 91 @1 | 31 &1 e,
1 26 TGN, 1950 1, TSI fHA & d1¢ YIRT &1 =01 Tidu= IR <1 # ar] foear man|
4 a9 4R & URA & OIS 9iftd faan T SiR 8 AfeuE & R 3 %
MG T HH R g3 3k, 26 a3 H1 & 70 a9 9 ¥ RIS § | 26 S8
SHRI AP ud B, Sl YRd &1 qul arei=d &1 Ui ¢ 1 391 Ui SR Py i@ 31

Sub questions

Question Number : 1 Question Id : 9209069619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hfaem & P @

(1) FETEH iR (2) TEIE G

() HR sEEE (4) gl ih
Options :

92090638001. 1
92090638002. 2
92090638003. 3
92090638004. 4

Question Number : 2 Question Id : 9209069620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd &1 Wdadl &d UK gs?

(1) 14 3% 1947 (2) 15 37T 1949
(3) 15 3R 1947 (4) 14 3T 1949
Options :

92090638005. 1



92090638006. 2
92090638007. 3
92090638008. 4

Question Number : 3 Question Id : 9209069621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRl fasaept ae feman 87

(1) TSIl & Uy demE Bt
2  fofew o= &1

(3)  UdFdr iR U

{

4) AN wdFar o qof e

Options :

92090638009. 1
92090638010. 2
92090638011. 3
92090638012. 4

Question Number : 4 Question Id : 9209069622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) Idl-ud1 &1 (2) FAdEFRU] &I
(3)  HifdeIRa B @) HE-H1d B
Options :

92090638013. 1
92090638014. 2
92090638015. 3
92090638016. 4

Question Number : 5 Question Id : 9209069623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hfaur ¥ 8 Agc =16l fean mam

(M e s

@ i sfer @t sredl
(3) Ot sfier! #t e
(@) e

Options :

92090638017. 1
92090638018. 2
92090638019. 3
92090638020. 4

Question Id : 9209069618 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

TR f3aw SHRT AP Ud §1 1929 # DU $T Ub Head gyl AU aeR # Il 7t &
PR g U1, forrd Wi dieu fads oIk Mad S Adisf &1 el IRon 4 &9y A
YR &1 QUi ¥ 3fTelg 1 Wi & &1 ufas &1 4 i o 9@ 320 &1 gof arefar =gt
ot Sircht, SR SrHE ifd SiR 34 &1 919 w18l o | 33 ufas &1 g9 HRdaRi &R 9y 26
SE] BT APeES BEAP Ge0d ¢, &b 1 S &1 quf WIefiar JeT g1 3@ | 31 81 e,
34l 26 ST, 1950 B, ISl e & &g WRd &1 =41 WAy IR 1 § @r] faar
2 ARG 9§ URd & URE &I UGS it 361 T SR A0 S 3UH & o uR S &
A &1 HH Y g3 3(ct;, 26 SFaR] B1 & T10rea [3aq A8 8 YHRI 1dl & | 26 Sad
SHRI AP Ud g, Sl YRd 1 ol wrefi=dr &1 Udie g | 391 Udeiie sk Ifia wed g1

Sub questions

Question Number : 1 Question Id : 9209069619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wfaym & fFmfar g

(1) Heren i (2) TEIE AT
3) 3R sfdEE (4) eqyan s
Options :

92090638001. 1
92090638002. 2
92090638003. 3
92090638004. 4



Question Number : 2 Question Id : 9209069620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR &I WiFdl &d Ul g3?

(1) 14 37X 1947 (2) 15 3T 1949
(3) 1537 1947 (4) 14 3T¥d 1949
Options :

92090638005. 1
92090638006. 2
92090638007. 3
92090638008. 4

Question Number : 3 Question Id : 9209069621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRl faraent arg e g2
(1) ST & 5yg TS i
@  fofew srem 9t

(3)  OdHdr SR g
(4) ARG Tacidn 3R quf e

Options :

92090638009. 1
92090638010. 2
92090638011. 3
92090638012. 4

Question Number : 4 Question Id : 9209069622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  Hol-uur (2) AGENRUl &l
(3)  whifderiar & (4) NG-H1g Bl
Options :

92090638013. 1
92090638014. 2



92090638015. 3
92090638016. 4

Question Number : 5 Question Id : 9209069623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hfaem # {68 mea =8 i man
(1 afen &
@ Aniie sferl @ srerdd
@) it sfierl &t e
(@)  urfFRTeE

Options :

92090638017. 1
92090638018. 2
92090638019. 3
92090638020. 4

Sub-Section Number : 2
Sub-Section Id : 920906312
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209069624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafaa 4 4 ofe it &1 3erw gl

(1) ged 2) 4ed
@) Fdg (4) AT
Options :

92090638021. 1
92090638022. 2
92090638023. 3
92090638024. 4

Question Number : 6 Question Id : 9209069624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Froafafaa § 9 gl 9y &1 g gl

(1)  3ged () Hed
(3) S 4) oA
Options :

92090638021. 1
92090638022. 2
92090638023. 3
92090638024. 4

Question Number : 7 Question Id : 9209069625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | & gy &t 1 @1 fiyar S

gait-1 Weg At -1
(A) T (1) dgdife ga™
(B) TR () ey 9T
(€ Qe () TS T
(D) TERY av) fe wr
13 Gy o fased! & 9 wel I &1 =90 B
(10 A)-O, @)-(1), (©)-(1V), (D)-(1)
2 (A)-n, (B)-(m), (Q)-(V), (D)-()
3} (A)-(n, (B)-(V), (O)-(), (D)-()

)

(4)  (A)-(), (B)-(In), (C)-(V), (D)-(1)

Options :

92090638025. 1
92090638026. 2
92090638027. 3
92090638028. 4

Question Number : 7 Question Id : 9209069625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 1 % gt 11 &1 iy Fifeg

el W8 T -1 JHE
(A) n sgdife Ta
(B) TR () gty TaTy
(€ e () TS T
(D) wHEER av) fEaar
-rd f3u o fawedi A § |6l 3w &1 994 Sifa:

(M (A)-(), (B)-(11), (C)-(IV), (D)-(1I)
(2)  (A)-(), (B)-(li), (C)-(IV), (D)-(1)
(30 (A)-(), (B)-(1V), (C)-(1}, (D)-(11)
(4)  (A)-(m), (B)-(In), (C)-(V), (D)-(1)

Options :

92090638025. 1
92090638026. 2
92090638027. 3
92090638028. 4

Question Number : 8 Question Id : 9209069626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"3 3T, I Wig' diepifad w149t 31 €

(1) REePEAE

(2) @R 3R ST & BieS
(3)  3MUfd & M IR YO HAT
(4)  WBH BT R Bd

Options :

92090638029. 1
92090638030. 2
92090638031. 3
92090638032. 4

Question Number : 8 Question Id : 9209069626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"3 3T, I Wig' diepifad w149t 31 €

(1) s sEAag
2) IR 3R HieATS 8 BieS
(3) U & M IR U B
(4) S HH BT B
Options :
92090638029. 1
92090638030. 2

92090638031. 3
92090638032. 4

Question Number : 9 Question Id : 9209069627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFofafad § 9 79® S[ddR &1 Ie 78l 6;

(1) &6 S d 9 T Aeddl HUe™
(2  9gd R FHA Fodn

(3) o ST, 91 3@ o9 &R Tl g

(4) WA WA Blell, AR Yol &

Options :

92090638033. 1
92090638034. 2
92090638035. 3
92090638036. 4

Question Number : 9 Question Id : 9209069627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frofifad & ane SadR H1 360 T8 &:
(1) &b dAD d Gl T Highdl SHiUH™
(2 Yad U FHA Hol
3) dHSRERR, 9 3E dH R S g
(4)  HRI A "R Piell, R gEl 6l

Options :
92090638033. 1



92090638034. 2
92090638035. 3
92090638036. 4

Question Number : 10 Question Id : 9209069628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"FUUTT H1 fadd g

(1) et (2)
(3) HEM (4) Jald
Options :

92090638037. 1
92090638038. 2
92090638039. 3
92090638040. 4

Question Number : 10 Question Id : 9209069628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUUEr I f[ddH &:

(1) et (2)
(3) HEHI (4) JaRd
Options :

92090638037. 1
92090638038. 2
92090638039. 3
92090638040. 4

Question Number : 11 Question Id : 9209069629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬂﬁm]:ﬂﬂ:;—g.auc}tﬂﬁmmﬁl

12 5
1 = |
(n o (2) =

12 6
(3) = (4) =



Options :

92090638041. 1
92090638042. 2
92090638043. 3
92090638044. 4

Question Number : 11 Question Id : 9209069629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ﬂﬁm]:ﬂﬂ:;—g. dl cot 8 1AM Fd B

12
25
12

@ - (4)

(Mm

Lh | E]u‘

Options :

92090638041. 1
92090638042. 2
92090638043. 3
92090638044. 4

Question Number : 12 Question Id : 9209069630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U A1 H 32 km/h @1 10 § 96 gU 35 fiFe @1 81 40 kmyh @1 10 | Terd gU aEn o
fasa Ty (fire o) @i

(1) 28 (2) 24
(3) 30 (4) 33
Options :

92090638045. 1
92090638046. 2
92090638047. 3
92090638048. 4

Question Number : 12 Question Id : 9209069630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U A H 32 ke/h 1 710 9 I §U 35 e @71d 1 40 kmyh @1 71 8 F@d g 9B H
fc1 wag (fee ) @

(17 28 (2) 24
(3) 30 4) 33
Options :

92090638045. 1
92090638046. 2
92090638047. 3
92090638048. 4

Question Number : 13 Question Id : 9209069631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST A 7 1,000 SHfFd I D1 TF HAT B U1 S HANTT Gl 15% T x%, HT TH
F3Td BU 3 714 3T | x &1 AF J1d HI|

(1 125 (2) 15
(3) 16 (4 20
Options :

92090638049. 1
92090638050. 2
92090638051. 3
92090638052. 4

Question Number : 13 Question Id : 9209069631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT A % 1,000 Sifdhd Hey B U HHIG W] TU1 & HHANTT Fei 15% adl x%, &1 a1
F31d §U % 714 [T | x &1 AF I1d B

(1) 125 (2) 15
(3) 16 (4) 20
Options :

92090638049. 1
92090638050. 2
92090638051. 3
92090638052. 4



Question Number : 14 Question Id : 9209069632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

24 cm Gdls aUl 6 cm MR B &1 g § &9 U6 O &1 U g1 34 U PR &d gu
38 U Tid H aeadl 8| T S B g

(1) 1cm (2) 2cm
(3)  6cm 4) 8cm
Options :

92090638053. 1
92090638054. 2
92090638055. 3
92090638056. 4

Question Number : 14 Question Id : 9209069632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

24 cm Gdls aUl 6 cm TR B &1 gl § §91 Uh 9% 81 U a1 34 U PR od g
38 U T H deadl g | T 3 B g

(1) 1Tam (2) 2cm
(3) 6cm 4) 8cm
Options :

92090638053. 1
92090638054. 2
92090638055. 3
92090638056. 4

Question Number : 15 Question Id : 9209069633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% 7,700 B T YR =411 R &1 HIT # 59 USR IUR &l 775 b Ugdl U W 5 a9 $T 20%
qIite 1 e U ST aUl gEL HIT W 6 T4 &1 9% dANNP $I a3 U AT &R ol &l Ul H
JYR & 71 R F Bler 4T J1d B

(1) 7 2,400 (2) ¥5,000

(3) ¥ 5,300 (4) T2,700
Options :



92090638057. 1
92090638058. 2
92090638059. 3
92090638060. 4

Question Number : 15 Question Id : 9209069633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 7,700 B TR IR &A1 G &1 HFT H 59 UHR SYR &l 715 [ Ugd YT TR 5 Y $T 20%
qIftia ®1 X | TS aUT GE U W 6 T4 &1 9% dIie i o | &1l aaR g1 &l HFT o
YR &t 73 AR T BleT AT I B

(1) % 2,400 (2) 5,000
(3) ¥ 5,300 (4) 2,700
Options :

92090638057. 1
92090638058. 2
92090638059. 3
92090638060. 4

Question Number : 16 Question Id : 9209069634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T o5 Al & iR -ufvads & St §el 81 s

20+ 20+ 20-20x20=20

(1) + 3R = 2) +3R-
(3) + 3R x (4) x M=+
Options :

92090638061. 1
92090638062. 2
92090638063. 3
92090638064. 4

Question Number : 16 Question Id : 9209069634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gritevur H o fargl & afar-ufvads @ witesor gl 81 sy

20420+ 20-20x20=20

(1) + 3R+ (2) + MR-
3) + 3R x 4) x 3R+
Options :

92090638061. 1
92090638062. 2
92090638063. 3
92090638064. 4

Question Number : 17 Question Id : 9209069635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FofafEa ®H- A1 usaE® = (7) F ™F R @ o J&dl g, 59y - . & 918 ud g
WP U HAH Hay R g1 gH?

5369 :4258 ::9875:7

(1) 8763 (2) 8764
(3) 7764 (4) 7763
Options :

92090638065. 1
92090638066. 2
92090638067. 3
92090638068. 4

Question Number : 17 Question Id : 9209069635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafafEd F9-91 99 vyaEs &% (7) $ ®H W @ o ¥6dl g, 590 - & 90 ud g
TPH U A Y WU 81 ghm?

5369 : 4258 :: 9875 :7

(1) 8763 (2) 8764
(3) 7764 (4) 7763
Options :

92090638065. 1



92090638066. 2
92090638067. 3
92090638068. 4

Question Number : 18 Question Id : 9209069636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feifefe A # A ®e1, & a8 off age1 @d @1 8, a8 W U1 &1 uell-&1 Gt & 2 vzl @ St
£ | 98 Bd e de fde € f5u uer 3 defia &2

M uE (2) w3l (ofiem
3 T (4) HHA
Options :

92090638069. 1
92090638070. 2
92090638071. 3
92090638072. 4

Question Number : 18 Question Id : 9209069636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafelg A A A @el, & 98 o dS1 @d @1 §, 98 W 01 &1 uell-&1 gl & <) wigdl 9 Bie
¢ | 98 §d gl ool Mg 4 vy ver | defia g2

(1) MR (2) s I Gl (Gfem
3 W (4) FHHE
Options :

92090638069. 1
92090638070. 2
92090638071. 3
92090638072. 4

Question Number : 19 Question Id : 9209069637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



39 HYA W [daR fHfor ok a8 7 o & SH-8 gdurt &34 § srafied 87

YA Fefl 7 Hifae! f[awg & srams 1 gifve e gr1 fofag fifkua sie
fopforae &1 U ufd &1 T@4 &1 4wor faa |

A URUIE: | Uds Al J&ds @iig dadl ¢ |
. Qe IRAE |

(1) Ofe Fad qduron | sf=fied

(2) Ofe FHad YEURON 11 =IHed §
@) afgaar 178 srafiea s

(4)  Ife YdyRom | SR 11 ST SF=afied &

Options :

92090638073. 1
92090638074. 2
92090638075. 3
92090638076. 4

Question Number : 19 Question Id : 9209069637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 HYA R [TaR fHfone ofR g8 00 [ & SH-3 qdurt &y 1 srafied 82

YA : Fen | Hifde! favg & srams 3 gifve ARe gr1 fofag fiRda sie
fopTorae @l Ue uid &1 Ta- i Hiwor fea |

A URUIE: | Uds A s @ilg 9adl & |
I, JEad g g |

(1) 3 Had gduron | si=ffed &

(2) dfe Had GhURON || SFf-ied &
@) gieadr 1780 R §

(4) i gdYrRoN | R 1| T sf=IHTRd §
Options :

92090638073. 1
92090638074. 2



92090638075. 3
92090638076. 4

Question Number : 20 Question Id : 9209069638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fu U HYHl & SR W Fgfafad sF-ar ey srERu s
FYT: A SHITEEE T

B. Ol HRfai a1% €|
frepd: || oo oan FREE |

Il. 8 91d Had g |

(1) ol Fsp | S ER Rl 8

2 afe Fsp || SERu BT

3) A Fepy | srar €T 11 SER Hdl @
(4) frepy | R 11 QT SR IR §

Options :

92090638077. 1
92090638078. 2
92090638079. 3
92090638080. 4

Question Number : 20 Question Id : 9209069638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fu U HYHl & SR W Fgfafad sF-ar ey srERu s
FYT: A SHITEEE T

B. Ol HRfai a1% €|
frepd: || oo oan FREE |

Il. 8 91d Had g |

(1) ol Fsp | S ER Rl 8

2 afe Fsp || SERu BT

3) A Fepy | srar €T 11 SER Hdl @
(4) frepy | R 11 QT SR IR §

Options :

92090638077. 1
92090638078. 2
92090638079. 3
92090638080. 4

Question Number : 21 Question Id : 9209069639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ry ud i =dl & wea 1, S fauTee & &0 § &1 #3182

(1)  3RIg udd avft (2) PEe versal
(3)  fdeg goft @) HIgSI ygIsal
Options :

92090638081. 1
92090638082. 2
92090638083. 3
92090638084. 4

Question Number : 21 Question Id : 9209069639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ry ud 7 7 & Hed B, e {Ayeis & U H ST R 82

(1) 3RIael gdd it 2) PRrarfes ugiagi
(3)  fdem goft 4) HdgS ugieal
Options :

92090638081. 1
92090638082. 2
92090638083. 3
92090638084. 4

Question Number : 22 Question Id : 9209069640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & a1 g 11 B e Sifoe

-1 (GiHf & =) Tdl -l (R srfogaRT &

fafae &)

() fTa SreE |l 1) HWRe TEHE  (FfE
ATHA)

®) e wfafa () HRd & APE ISAF H
GYUR BT

(€) UH IR g4 ufafa ) =red A

(D) Tgddl afAfa (V) ISR SRy ST GIe

2 fdu e fasedi § 9 9l IR &1 98- DifIg;

(1) (A)-(), (B)-(liT), (C)-(IV), (D)-(1)
(2) (A1), B)-(1V), (C)-(In), (D)-(IN)
(3)  (A)-(V), (B)-(1), (O)-(1), (D)-(1N)
@ (A)-1V), (B)-(1), (C)-(1), (D)-(1)

Options :

92090638085. 1
92090638086. 2
92090638087. 3
92090638088. 4

Question Number : 22 Question Id : 9209069640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Tl | & 9y = 11 B e S

-1 (Gt & =) Tl -l (MRAE srfogawn &

fafas &)

(A) oW SaE | 1) ®We Ty (Fmd
A1)

®) fovaraffd () HRd & AP IR A
YR HAT

(C) UH IR g4+ afafa ) wed A

(D) dgddl afAfa (V) STSIR SRS ST FTe

412 feu e fasredl & | 9l IR &1 984 DI

(1) (A=, B)-(), (C)-(IV), (D)-(I)
(2) (A1), (B)-(IV), (C)-(1n), (D)-(IN)
(3)  (A)-(V), (B)-(1), (O)-(), (D)-(IN)
4)  (A)-(V), (B)-(1), (C)-(I), (D)-(l1)

Options :

92090638085. 1

92090638086. 2

92090638087. 3
92090638088. 4

Question Number : 23 Question Id : 9209069641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&x o Frofafed few &3 & e TEoit amr gfaw &1 feharagH féan o @1 &2

(1)  Yod ¥IA
(2) USRUK (GaEUTH)
(3)  SrRIca a9 3rgT (ETHEl)
(4) O (I
Options :

92090638089. 1
92090638090. 2
92090638091. 3
92090638092. 4



Question Number : 23 Question Id : 9209069641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&9 ¥ Frgfafed few &3 & foe TEoit amr gfaw &1 faragH i o @ 82

(1) Yod &Y
(2) USRUR (Gar§uH)
(3) ORI aH 3T (MSTHeII)
(4) O @)
Options :

92090638089. 1
92090638090. 2
92090638091. 3
92090638092. 4

Question Number : 24 Question Id : 9209069642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RgsERumE:

HY| ;. UH a8 & GRA S Bl HNfad S & ofer Idifcd axgell d Jarsi &1
3ifcH e Udd T SMIE (GDP) HEaldl ¢ |

®YF I Fad @R IATE (NDP), bl U 3dIE (GDP) Ud WRel Yol IS & Hed g
@REufRy & ged & $4) &1 g9 8|
I HYA & 3{Tclid |, I S0 710 [deedl § ¥ 9l 3 &1 99 $ifelw

(1) Y1 AR TR R
2 @Y1 3R 11 EHE TTad §
(3) DY Ul g, Alhd HYA I Tad §
@) YT TTAd B, AP HYT 11 TS B

Options :

92090638093. 1
92090638094. 2
92090638095. 3
92090638096. 4



Question Number : 24 Question Id : 9209069642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RgsERumE:

HY| ;. UH a8 & GRA S Bl HNfad S & ofer Idifcd axgell d Jarsi &1
3ifcH e Udd T SMIE (GDP) HEaldl ¢ |

®YF I Fad @R IATE (NDP), bl U 3dIE (GDP) Ud WRel Yol IS & Hed g
@REufRy & ged & $4) &1 g9 8|
I HYA & 3{Tclid |, I S0 710 [deedl § ¥ 9l 3 &1 99 $ifelw

(1) Y1 AR TR R
2 @Y1 3R 11 EHE TTad §
(3) @Y | Hel g, dihd HYA 11 TTad &
@) YT TTAd B, AP HYT 11 TS B

Options :

92090638093. 1
92090638094. 2
92090638095. 3
92090638096. 4

Question Number : 25 Question Id : 9209069643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd TRBR &1 o UIieq FHfaiad ey defid g2

(1) YduH® Gliger (2) oy fen
(3) ool AfSREA 4) SR 3menid fefored gxaer
Options :

92090638097. 1
92090638098. 2
92090638099. 3
92090638100. 4

Question Number : 25 Question Id : 9209069643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HRd THR $1 oW UIdd Fgfeiad fead ddfta 82

(1) YdaHe Gigar! (2) oo fRren
(3) <ol AfSREA (4) SR Y fefored gwer

Options :

92090638097. 1
92090638098. 2
92090638099. 3
92090638100. 4

Part B: Soil Science Soil and Water Conservation

Section Id : 920906192
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906313
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 9209069644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The angle that the electromagnetic radiation reflected from a surface makes with the normal
to the surface is called

(1) Angle of depression (2) Angle of reflection
(3) Angle of Incidence {(4) Albedo
Options :

92090638101. 1
92090638102. 2
92090638103. 3
92090638104. 4



Question Number : 26 Question Id : 9209069644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UH HaE h ATTEd 919 Hog § FEa [@ed qrEehid Hiehto Sl I Sl 8, 36 a4
FEd &7

(1) 38 Fim (2) TIEAT I
(3) A Hivf (4) feafa (ufea=n)
Options :

92090638101. 1
92090638102. 2
92090638103. 3
92090638104. 4

Question Number : 27 Question Id : 9209069645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one among following is not a componets of GIS?

(1) Software (2) Hardware
(3) People (4) Sensor
Options :

92090638105. 1
92090638106. 2
92090638107. 3
92090638108. 4

Question Number : 27 Question Id : 9209069645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 3 & ®H St 377 T (GIS) 1 =esh T 87

(1) g @i (2) T= |l
(3) @ (ufeerer) (4) HaTH
Options :

92090638105. 1
92090638106. 2
92090638107. 3
92090638108. 4



Question Number : 28 Question Id : 9209069646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The flow towords a drain / well where the direction of flow at every point is towards or from
some point on the axis of symmetry of the drain / well system is known as —

(1) Radial flow (2) Horizontal flow
(3) Tangential flow (4) Axial flow
Options :

92090638109. 1
92090638110. 2
92090638111. 3
92090638112. 4

Question Number : 28 Question Id : 9209069646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U AR/ FI IR TR, T EE e G g W sAveies/F9 wonet #i
Twfafa & 37 W fwdl fag #1 3/ & &l 8, 30 9901 91 & -

(1) F=ig e (2) &fos wame
(3) T EE vaE (4) &a v=
Options :

92090638109. 1
92090638110. 2
92090638111. 3
92090638112. 4

Question Number : 29 Question Id : 9209069647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Well yields depend on the properties of aquifers. One among the following is incorrect.
(1) Hydraulic conductivity (2) Transmissivity
(3) Specific yield / storage coefficient (4) Method of well construction

Options :

92090638113. 1

92090638114. 2
92090638115. 3



92090638116. 4

Question Number : 29 Question Id : 9209069647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEAYAl % TH T FY Afey it wt 21 Frefafea § 8 |6 v Tem 27

(1)  ieigel =retshal (2) ORI
(3) fafire @fel/wemon e (4) Fu Fmfor & fafy
Options :

92090638113. 1
92090638114. 2
92090638115. 3
92090638116. 4

Question Number : 30 Question Id : 9209069648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One among the following is not a part / component of a drip irrigation system. Identify it.

(1) Main {(2) Laterals
(3) Sub-main (4) Siphon tube
Options :

92090638117. 1
92090638118. 2
92090638119. 3
92090638120. 4

Question Number : 30 Question Id : 9209069648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feret e s woreft 1 v ww/aess Tefefag § & v T 21 38 ve=it

(1) wHE (2) 3I9-7HE
(3) ifea=s (4) 1= AT
Options :

92090638117. 1
92090638118. 2
92090638119. 3



92090638120. 4

Question Number : 31 Question Id : 9209069649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Electromagnetic radiation from sun interacts with the atmospheric constituents and gets
diffused in many directions, the resultant radiation is

(1) Absorption (2) Scattered radiation
(3) Reflected radiation (4) Transmitted radiation
Options :

92090638121. 1
92090638122. 2
92090638123. 3
92090638124. 4

Question Number : 31 Question Id : 9209069649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 4 Tagm g fafem safania gues & @1y i & 8 30 %3 feme 9
ferafea =1 s 8| ftomdt fafeor 2 -

(1)  3F=EuEm (2) whit fafemmo
(3) TEfda fafem (4) uroTa fafm
Options :

92090638121. 1
92090638122. 2
92090638123. 3
92090638124. 4

Question Number : 32 Question Id : 9209069650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Recording the characteristics of aquifer material while drilling is known as-

(1) Well drilling (2) Well development
(3) Well logging (4) Well cleaning
Options :

92090638125. 1
92090638126. 2



92090638127. 3
92090638128. 4

Question Number : 32 Question Id : 9209069650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT % AT Ferga Al 1 faeeaia &1 Afaerea e €9 6 S S 7
(1) =T I8H (2) 59 fawm

(3) =Y ST (4) T H=BH

Options :

92090638125. 1
92090638126. 2
92090638127. 3
92090638128. 4

Question Number : 33 Question Id : 9209069651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List [ with List II :

List I List IT
{A) Open Well (I} Darcy’s law
(B) Dug-cum-bore well (II) Well spacing
(C)  Well interference (IIT) Recuperation test
(D) Ground water flow (IV) Bore at the bottom of open well

Choose the correct answer from the options given helow :

[

(
(2

"

) (A, (B)-(I), (©)-(1), (D)-(IV)
) (A, B)-(V), (©)-(I), (D)-(1)
) (A, (B)-(, (C)-(h, (D)-(IV)
) (A, (B)-(), (C)-(IV), (D)-(IITy

—
L3

(4

Options :

92090638129. 1
92090638130. 2
92090638131. 3
92090638132. 4

Question Number : 33 Question Id : 9209069651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HeA1-1 % ar ge-11 o1 frem i
i1 -1
(A) G g3 () = & frem
(B) G gA-wE-du gy (1) B9 F=TeH
(C) 59 =Afasmr (L1T) wfermfe adieqo
(D) et w8 (IV) Gt &9 & 334T9rT 7€ afta

e feu o faweui @ ® 5 39 %1 999 Hifa

(1)  (A)-(D), (B)-(D), (C)-(I1I), (D)-(IV)
(2)  (A)-dID, (B)-AV), (C)-a1), (D)-(I)
(3)  (A)-aD), (B)-IID), (C)-(1), (D)-AV)
(4)  (A)-AD), (B)-(D), (C)-(IV), (D)-(I1I)

Options :

92090638129. 1
92090638130. 2
92090638131. 3
92090638132. 4

Question Number : 34 Question Id : 9209069652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : Heavy textured soils are commonly wvery difficult to drain

resulting into reduced trafficability.

Statement [I  : The hydraulic conductivity ‘K’ is very very high in heavy textured

soils.

In the light of the above statements, choose the correct answer from the options given

below:

(1) Both Statement I and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement 11 is false

(4) Statement 1 is false but Statement I is true

Options :

92090638133. 1
92090638134. 2
92090638135. 3
92090638136. 4

Question Number : 34 Question Id : 9209069652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e & o fg T € -

FoA 1: 9l w=gfd Al 9o "WEd: HeRm ® H Ae Hied el 8 A
FogEY AT THS 9 B 4 8

Fed [1: 9 agfa arell gerst 4 Joigel areswal ‘K A= 3= 8l 2|

I HYF & el 4, A= feu 7o el § § ¥4 I90H I9 H 954 il
(1) @A 138 11 2H1 58 &

(2) =y 1 3R 1 gHi Ted &

(3) FHuA 1981 2, AT %9a 11 7T 8
(4) = 17ed 8, ofe sy [1 981 8

Options :

92090638133. 1
92090638134. 2
92090638135. 3
92090638136. 4

Question Number : 35 Question Id : 9209069653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List I :

List [ List 11
(A) Open Wells (I} Water bearing strate
(B) Tube Wells (IT) Screens are not used
(C) Cavity Wells (III) Large diameters
(D) Filter points (IV) Deltaic regions

Choose the correct answer from the options given below :

(1) (A)-(V). B)-(). (C)-(I), (D)-(1N)
(2 @)-(, B)-(), ([C)-(), (D)-(IV)
(3 AQ)-), B)-(D, (©)-(I), (D)-(IV)
4)  (A)-(n, (B)-(), (C)-(1V), (D)-()
Options :
92090638137. 1

92090638138. 2
92090638139. 3



92090638140. 4

Question Number : 35 Question Id : 9209069653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TH1-1 % |1 g=-11 =1 faem fife -
g=i-1 -1
(A) et gd (I) ¥ 984 5
(B) =it &9 (IT) &7 S @l &id 2|
(Cy fomm v (I11) 5o =8
D) frees fag (IV) TR &=

= feu o fawedl 9 & wE I 1 99 Hifw

(1)  (A)-AV), (B)-1D), (C)-(I), (D)-(1LI)
(2)  (A)-aID), (B)-(D), (O)-(1D), (D)-AV)
(3)  (A)-@), (B)-(ID), (C)-(I1I), (D)-(AV)
(1) (A)-(ID), (B)-(III), (C)-(IV), (D)-(D)

Options :

92090638137. 1

92090638138. 2

92090638139. 3
92090638140. 4

Question Number : 36 Question Id : 9209069654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The hydrologic design of permanent gully control structures is done by computing the

runoff ratefor _ years return period.

(1) 10to15 (2) 15to 20

(3) 20to25 (4) 25to0 30
Options :

92090638141. 1
92090638142. 2
92090638143. 3
92090638144. 4



Question Number : 36 Question Id : 9209069654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T FaATeRT FEAT HTEAT S Aeigel Aghed Ul &% TedEdd HAY
T8 T & Uiehe gRT fohaT ST 2|

(1) 104 15 (2) 15% 20

(3) 20425 (4) 25% 30

Options :

92090638141. 1
92090638142. 2
92090638143. 3
92090638144. 4

Question Number : 37 Question Id : 9209069655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pump is run at constant discharge for for recovery test on a well.
(1) 3 to 6 hours (2) 6tol2 hours
(3 12 to 24 hours (4) 24 to 48 hours

Options :

92090638145. 1
92090638146. 2
92090638147. 3
92090638148. 4

Question Number : 37 Question Id : 9209069655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRl 9 W TAEH TS B 9o Fe1 o (g fEd ¥E W U e (99)
ECEIREIGIE

(1) 3#6HE (2) 69 12 =2

(3 12@24%2 (4) 24 9 48 "<

Options :

92090638145. 1
92090638146. 2



92090638147. 3
92090638148. 4

Question Number : 38 Question Id : 9209069656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Drainage cofficent is defined as the depth of water in em to be removed in hours
period from drainage area.

(1) 12 (2) 24
(:3) 48 4y T2
Options :

92090638149. 1
92090638150. 2
92090638151. 3
92090638152. 4

Question Number : 38 Question Id : 9209069656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AEE ST A AW AT S A R H = F 39T w1 $ w9 d FE=E
TR i afvaTfaa faam ST 21

)y 125 (2) 24 92

(3) 48%= (4) 72 =2

Options :

92090638149. 1
92090638150. 2
92090638151. 3
92090638152. 4

Question Number : 39 Question Id : 9209069657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Water delivery system performance’ is measured using the following variables.
Identify the incorrect one.

(1)  Discharge rate of water deliverd (2) Frequency of water deliverd

(3) Quality of water delivered (4) Duration of water delivery

Options :



92090638153. 1
92090638154. 2
92090638155. 3
92090638156. 4

Question Number : 39 Question Id : 9209069657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FefeTfigd =i 1 T B 8L T GGH YITEl! eI 1 JIA f6A1 Sl 21 3 § U
TTefd &l AT

(1) Wed Siel =1 &6 & (2) Wed Wl i FEM
(3) vEd o @i TUrE (4) Ted I i Y
Options :

92090638153. 1
92090638154. 2
92090638155. 3
92090638156. 4

Question Number : 40 Question Id : 9209069658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : Observation wells in an aquifer with high hydraulic conductivity

should be placed farther from the pumping well.

Reasons (R): When the hydraulic conductivity of the pumping well is high, the
cone of depression will be wide and flat, resulting into large redius of

influence.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) (A) is not correct but (R) is correct

Options :

92090638157. 1
92090638158. 2
92090638159. 3
92090638160. 4

Question Number : 40 Question Id : 9209069658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



< g1 YA QU T B : U AfuHEA (Assertion (A)) % &9 ¥ fofgd 2 a1 goU 366 FRO
(Reasons (R)) % #9 1 :

sfmed (A):  Fordlt Sorya § 3= Jeigdl STeisar arel JE0T HUT 1 eHheE (i) Hui
¥ g wfuq oA s =nfeu)

FT (R) : & gHehTH (IT) HUT i TeIgel ATerhdl 39 Bidl 8, GaTd Wl AR
<itgT T HIE &M, BeaEy S i B gud @ St

IR HYE & AT 1, Hi= fev 7o gt 0 1 w6 3 = =94 $ifsu

(1) (A) 3" (R) 591 & & 3R (R), (A) Fi 58t =ren 2

(2)  (A) 3R (R) TH1 77 2, S (R), (A) 1 w8t =ren 781 2
(3)  (A)FH B, wfH (R) 3784 2

(4)  (A) ¥E 2, =i (R) &7 &

Options :

92090638157. 1
92090638158. 2
92090638159. 3
92090638160. 4

Question Number : 41 Question Id : 9209069659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  Strip cropping decreases the infiltration rate of soil under cover
condition.
Statement I :  Strip cropping reduces the runoff flowing through the close —

growing sod strips.

In the Light of the above statements, choose the correct answer from the options given

below:

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement I are false
(3) Statement I is true but Statement I1 is false
(4) Statement [ is false but Statement 11 is true

Options :

92090638161. 1
92090638162. 2
92090638163. 3
92090638164. 4

Question Number : 41 Question Id : 9209069659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 g sy few u &

FU4 [ :  UE T A g % F=id gl i H: e &l i HH Al 2l
FYA 11 : 95 T g1 94 J€AE |99 @S 9541 % g1 918 4164 %A 8@l 9 gl

ITRE FUH o AT °, 419 fou mu fawed o & 99 I9gE IR F 99 FHifaw

(1) = IIARICH 59 &
(2) =¥ 1 3R A 353 &
(3) HH [ FH &, dfchd w5 11 39 8
(4) &Y 1 3\ 2, Al %2 115 2

Options :

92090638161. 1
92090638162. 2
92090638163. 3
92090638164. 4

Question Number : 42 Question Id : 9209069660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amount of water that infiltrates in to the ground, annually in india is equal to million
ha m.
(1) 100 (2) 200
(3) 215 (4) 230
Options :

92090638165. 1
92090638166. 2
92090638167. 3
92090638168. 4

Question Number : 42 Question Id : 9209069660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT § a1t i T 9 § 3aq: e 89 916l IeT i JET fofeam gaear-ie 21
(1) 100 (2) 200
(3) 215 (4) 230

Options :



92090638165. 1
92090638166. 2
92090638167. 3
92090638168. 4

Question Number : 43 Question Id : 9209069661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ :  Isotropic homogeneous aquifers commonly occur in nature.

Statement 11 + As a result of stratification, the drawdown observed at a distance
from the pumped well may be different for different depths within

the aquifers.

In the Light of the above statements, choose the correct answer from the options given

helow -

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement I1 is false

(4) Statement 1 is false but Statement I is true
Options :
92090638169. 1
92090638170. 2
92090638171. 3
92090638172. 4

Question Number : 43 Question Id : 9209069661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= & %o U U &

FH 1 :  WHa ° BHHA] a1 GHFT Ferqd AEEad 9ied & &8

FH [ : T % TOnHEEd gHhiad (T98) B9 § $9 gl T A& Fivfl H9:909 Forya
% gL e TEUEAl & o firm 2 5 2

ITH YT & ATelh H, o fGu mu faeedi § & T 39w I H 997 i ;

(1) =F 130 [ eF 9 &
(2) w¥F 3T I EH 35 &
(3) U 18 8, oI %9 11 379 2
(4) U | 38 &, e %A 11 859 8

Options :

92090638169. 1
92090638170. 2
92090638171. 3
92090638172. 4

Question Number : 44 Question Id : 9209069662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

De-Zeeuew Hellinga Equation in drainage analysis works well for one of the following
conditions. Identify the correct option.

(1) Steady state discharge
(2)  Unsteady state discharge
(3)  Unsteady state discharge with fluctuating water table
(4) None of the above
Options :
92090638173. 1
92090638174. 2

92090638175. 3
92090638176. 4

Question Number : 44 Question Id : 9209069662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g &t 72 feufaai 9 & fdt v & fou sqvame favemo &1 Ei-sia gfomm adiemr weft wifa
I | AW 81 HEl ferered =1 ==+

(1) TR s 9@

(2) AR =1 |9E

(3) T Gl S=EEET & 91y JRE A9 9"
(4) 3T ° @ PE A

Options :

92090638173. 1
92090638174. 2
92090638175. 3
92090638176. 4

Question Number : 45 Question Id : 9209069663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The amount of water remaining in the soil after sufficient drainage period is a
function of

(1)  Grauitational potential (2) Matric potential
(3)  Osmotic potential (4) Hygroscopic potential
Options :

92090638177. 1
92090638178. 2
92090638179. 3
92090638180. 4

Question Number : 45 Question Id : 9209069663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TN 39918 SEY % 99E g61 § 99 = Al i A=l =1 ¥ 2
(1) T (2) #fg

(3) el favE (4) STzamTE

Options :

92090638177. 1
92090638178. 2
92090638179. 3



92090638180. 4

Question Number : 46 Question Id : 9209069664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : In confined and semi-confined aquifers, loss of head caused by pumping

propagates faster than in an unconfined aquifer.

Reasons (R) : The release of water from storage is due to compressibility of the aquifer

material and that of water.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (H) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) {A) is correct but (R) is not correct

(4) {A) is not correct but (R) is correct

Options :

92090638181. 1
92090638182. 2
92090638183. 3
92090638184. 4

Question Number : 46 Question Id : 9209069664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i g o fem Mo R

Fed 1: Tl ofteg 9a1 FU-witeg Jorgd | goeed (919) % G0 HIRA I8 6l ETH
AYES T i qo 4 AGsH d3 4 3T &l

FY 11 : HUEY 8 S H 9= Fc1 1 3T FAgd I9GH HI GEigAa F w0 8l 8
I HYT 5 el 4, Hi= for v faFedi § ¥ g9 39w I H 994 i

(1) @w 13 [ EH 90 8
(2) w5 1 3R 11 gHi 335 &
(3) YA 19 8, oifth wee 11 319 2
(4) e 1 3EF 2, Sl H2H 1153 2

Options :

92090638181. 1
92090638182. 2
92090638183. 3
92090638184. 4

Question Number : 47 Question Id : 9209069665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Terracing parctice is adopted for soil and water conservation in area with land slope.

(1) Less than 10% (2) Greater than 10%
(3) Less than 3% (4) Greater than 3%
Options :

92090638185. 1
92090638186. 2
92090638187. 3
92090638188. 4

Question Number : 47 Question Id : 9209069665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HET A1 A 6@V % 70 Fad i &5 § AfGH HiY Bl o @ ae (oA i &l

(1) 10% & %7 (2) 10% & A
(3) 3% FFHH (4) 3% 9§ Af=w
Options :

92090638185. 1
92090638186. 2
92090638187. 3
92090638188. 4

Question Number : 48 Question Id : 9209069666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ :  The surge block in the most generally used tool for well development

using cable-tool drilling.

Statement 1 : A heavy bailer may be used to produse the surging action, but it is not

as effective as a close fitting surge block.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement I1 is false
(4) Statement I is false but Statement Il is true

Options :

92090638189. 1
92090638190. 2
92090638191. 3
92090638192. 4

Question Number : 48 Question Id : 9209069666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



F= & w7 feumu #

FH [ FA-39R YEUT H AN Hd Y |9 GEE &g Ueed (s FEidw
WA Wad BT 2|

Fu 11 : Fiepau TRaT &1 3caTiqd & & g U ORI afe: &9s &1 53m 6 o1 gt 2
i T8 Had §HaA Yichd o FHH FuTel T8 8|

I HYT ® ATelh o, = fou mu fawedi 0 ¥ v I9gw I H 951 Hifan

(1) @ue 13 [ g 5él 2
(2) @Y 1 3R 11T Tod 8
(3) @y 1w 2, oifepd %A 11 7ed 8
(4) =¥ 1 7ad &, ofdd w9 1188 8

Options :

92090638189. 1
92090638190. 2
92090638191. 3
92090638192. 4

Question Number : 49 Question Id : 9209069667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(ne among the following options is not an advantage of water measurment using weirs.

(1) Accuracy of the measurement
(2) Deposition of gravel, sand and silt above the weir
(3) Simplicity of construction

i) Durability of the structure

Options :

92090638193. 1
92090638194. 2
92090638195. 3
92090638196. 4

Question Number : 49 Question Id : 9209069667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feu v fasredl § & *IE U |YHT & ITINT G T AI9H B ATHERT T8 8

(1) =194 61 IfEga (2) S, FTCL YT ME T SG9H T TH BT
(3)  Tmior i wea (4) T %1 FaenfEae
Options :

92090638193. 1
92090638194. 2
92090638195. 3
92090638196. 4

Question Number : 50 Question Id : 9209069668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The volume of water pumped per unit time is called.

(1) Total suction head (2) Total discharge head
(3) Capacity (4) Water horse power
Options :

92090638197. 1
92090638198. 2
92090638199. 3
92090638200. 4

Question Number : 50 Question Id : 9209069668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufd T 99 ¥ 99 U 70 99 & A=A & +Ed 2l
(1) e g0 =i (2) ot fame o
(3) & (4) T BH 9=
Options :

92090638197. 1
92090638198. 2
92090638199. 3
92090638200. 4

Question Number : 51 Question Id : 9209069669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  Hydrologic studies are made to determine design flood for
spillways.
Statement I  : Hydrologic studies are done for irrigation and erop planning

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement I and Statement Il are false
(3 Statement I is true but Statement 11 is false

(4) Statement I is false but Statement I is true

Options :

92090638201. 1
92090638202. 2
92090638203. 3
92090638204. 4

Question Number : 51 Question Id : 9209069669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= g %o fgu o &

F 1 o Togm aef sremm stfuem ot & fog sfises sty fuio 21 =@ £
&9 11 : 9 fagm gt aveas s v o FEem & 21

ITRE HUH % ATk °, A1 fou mu fawed o @ w9 IugeE I 1 99 Hifau

(1) =% 1 3R 1 gFr 58 8
(2) =y 1 3R 1 gH o 2
(3) e 1G9 &, ofeh &9 11 7Tea 8
(4)  F9 1 7od &, oife 9= 1154 8

Options :



92090638201. 1
92090638202. 2
92090638203. 3
92090638204. 4

Question Number : 52 Question Id : 9209069670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The head of centrifugal pump varies

(1)  Dhirectly with the speed of impeller
(2) As the cube of the speed of impeller
(3)  As the square of the speed of impeller

(1)  Inversely with the speed of impeller

Options :

92090638205. 1
92090638206. 2
92090638207. 3
92090638208. 4

Question Number : 52 Question Id : 9209069670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIhg! 99 HT I giafda g gl

(1) A= i 7T o SAHAHIT ° (2) TS i T % T9 ® AR
(3) A i I % O & AER (4) A= i i % A §
Options :

92090638205. 1

92090638206. 2

92090638207. 3
92090638208. 4

Question Number : 53 Question Id : 9209069671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Crop water requirement does not depend upon one of the following parameters:

(1) Type and growth stage of the crop {2) Type of the soil

(3) Water quality (4) Climatic parameters



Options :

92090638209. 1
92090638210. 2
92090638211. 3
92090638212. 4

Question Number : 53 Question Id : 9209069671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=1 O o 58 y=e W 999 5o SAETIHal 4 98 ST ?

(1) &% i gig H AT & TH (2) W& FT THN
(3) et =l TUrET (4) FERPTa Sr=e
Options :

92090638209. 1
92090638210. 2
92090638211. 3
92090638212. 4

Question Number : 54 Question Id : 9209069672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To prevent the pumped liquid from leaking along the shaft, pumps include

(1) Bearing (2) Shaft Sleeves
(3) Packing Sleeves (4) Volutes
Options :

92090638213. 1
92090638214. 2
92090638215. 3
92090638216. 4

Question Number : 54 Question Id : 9209069672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T+ 99 99 fohu U 39 % fE i U & fow, 9 A I A1 B
(1) == (2) IH wiE

(3) A =i (4) diege



Options :

92090638213. 1
92090638214. 2
92090638215. 3
92090638216. 4

Question Number : 55 Question Id : 9209069673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The size of drizzle (a form of precipitation) is

(1) 0.3 mm (2) 0.4 mm
(3) 0.5 mm (4) 0.6 mm
Options :

92090638217. 1
92090638218. 2
92090638219. 3
92090638220. 4

Question Number : 55 Question Id : 9209069673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FER (JMEE =1 U =9) F1 WM 2l

(1) 0.3 fq.d. (2) 0.4 fa.

(3) 0.5 fq. (4) 0.6 fad.
Options :

92090638217. 1
92090638218. 2
92090638219. 3
92090638220. 4

Question Number : 56 Question Id : 9209069674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The volume of water that can be extracted by force of gravity from a unit volume of aquifer
material is called

(1) Specific yvield (2) Specific retention

(3) Specific storage (4) Specific capacilty



Options :

92090638221. 1
92090638222. 2
92090638223. 3
92090638224. 4

Question Number : 56 Question Id : 9209069674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et SIeTa | % UF 33 A H H TEeareul a9 g1 (el T 9 o AEA

HEd &
(1) fafime afel (2) fafire gmo
(3) Tafire goem (4) Tafsre g

Options :

92090638221. 1
92090638222. 2
92090638223. 3
92090638224. 4

Question Number : 57 Question Id : 9209069675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Air lift pumps use compressed air for lifting water. Find correct statement

(A) It has no moving parts below water level
(B) Efficiency of air lift pumping is higher than 50%
(C) When air is pumped into the well water comes out

(D)  The air water mixture has lower spacific gravity than that of water

Choose the correct answer from the options given below :

(1)  (A), (B), (C), (D) Only
(2) (A (C), & (D) Only
(3)  (B),(C), & (D) Only
(4)  (A).(B), & (C) Only

Options :

92090638225. 1
92090638226. 2
92090638227. 3
92090638228. 4



Question Number : 57 Question Id : 9209069675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I IUTTH gHFe (T9) T 30U 2 Tifed 9/ =1 wa Fd £ | F9E FE A T w1
(A) 38 Ao & == Hig ot nfasfa wm =4 2 2|

(B) 91 3tT9H g (TU) i HE-THaT 50% d I=al gl &l

(C) it g & F9 § gaFicrd (T0g) fopan aman @ o 971 |mee 4w 21

(D) 9y =t Tason & fE v 9 i gaqn § foo g R

= feu mu fa=ewl 9 O OE 39 =1 =994 Sl
(1) == (A), (B), (C) 3R (D)

(2) %= (A), (C) 3 (D)

(3) aw (B), (C) 3R (D)

(4) (), (B) 3R (C)

Options :

92090638225. 1
92090638226. 2
92090638227. 3
92090638228. 4

Question Number : 58 Question Id : 9209069676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It is the ratio of crop yield (Y) to the amount of water depleted by the crop in the
process of evapotranspiration (ET).

(1)  Water Distribution Efficiency (2) Water Conveyance Efficiency
(3) Crop Water Use Efficiency (4) Field Water Use Efficiency
Options :

92090638229. 1
92090638230. 2
92090638231. 3
92090638232. 4

Question Number : 58 Question Id : 9209069676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
o asEeEeE (ET) 61 ufsan 0 a9 |fey (y) 997 959 g0 & 9 I 818 =l 96 &0
I R

(1) ot faawor e (2) el &4 FHIEd
(3) S ITFRT FHEEAl (4) @d H FeT I9ART HIET
Options :

92090638229. 1
92090638230. 2
92090638231. 3
92090638232. 4

Question Number : 59 Question Id : 9209069677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : Plant species vary greatly in their water requirement and water use

efficiency

Reasons (R):  One of the primary way of increasing crop yield and water use
efficiency in a particular environment is to select plant species

adopted to the total amount and distribution of water

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 15 NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) {A) 15 not correct but (R) 1s correct

Options :

92090638233. 1
92090638234. 2
92090638235. 3
92090638236. 4



Question Number : 59 Question Id : 9209069677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= &1 99 fou 7§ : wF 3fEuA (Assertion (A)) % ®9 ¥ fofiga & 1 gEu 3@ FAW
(Reasons (R)) HEIH :

HihYT (A) :  UTET TSIG I o7 FATETERAT R I TA0 HEAHa § AcAtas T
Tt gl

= (R) : femeft fafire wafa 4 oo 9 | 991 I T390 AT F1 TR
s T o F Fa T AR fFao § wfo afied ey yeta w5
=T FT B

ITRE Y o ATerh |, A fou mu fowedi § @ w99 39gE I H1 99 Hifag

(1)  (A) 3R (R) g1 &l € 3R (R), (A) i &l =men 2

(2)  (A) 3R (R) SHT @& 2, A6 (R), (A) 1 wE =amen @ 8
(3)  (A) @l 8, wifshd (R) wél 8 2

(4)  (A) = 7€ B, ©iFFA (R) @&l &

Options :

92090638233. 1
92090638234. 2
92090638235. 3
92090638236. 4

Question Number : 60 Question Id : 9209069678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The requirement of a satisfactory Drainage outlet are given below. Identify the
incorrect one.
(1)  To provide free flow of water
(2) Protect the end of the tile line
(3) Allow the rodents to block the drain
(4) Preventing the entrance of flood water
Options :
92090638237. 1

92090638238. 2
92090638239. 3



92090638240. 4

Question Number : 60 Question Id : 9209069678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ush HAGa-eh 9918 (9 S AGvEHal 4 ¢f 75 81 feu mu fawmed 4 9 7o fawes #=
=3 Hi|

(1) <ic1 =1 qad YaT8 39cTed M| (2) TEA AT o SR DI T HEAT
(3) FaH! FI el F FTEG FA G (1) WG F TA P T4 B THA

Options :

92090638237. 1
92090638238. 2
92090638239. 3
92090638240. 4

Question Number : 61 Question Id : 9209069679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The rational method is used to predict the

(1) Run off rate (2) Rainfall intensity
(3) Peak runoff rate (4) Discharge
Options :

92090638241. 1
92090638242. 2
92090638243. 3
92090638244. 4

Question Number : 61 Question Id : 9209069679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aitg fafy 1 39 1 ST = feru fora <iman &1
(1) TEH (2) gfee i diem
(3) I=a9 9E oL (4) fams=
Options :

92090638241. 1



92090638242. 2
92090638243. 3
92090638244. 4

Question Number : 62 Question Id : 9209069680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Water turbine pumps are used to lift the water from deeper zones. Identify the correct
statements

(A) Lower half section a turbine pump 1s a turbine

(B) Turbine is an axial flow pump

(C)  Upper half section of turbine in a centrifugal pump

(D) The water turbines may be single or multistage

(E) The turbine is driven by hydraulic energy and pump lifts the water

Choose the correct answer from the options given below :

(1) ). B), (C), & (D) Only
(2) (A, (B), (C), & (E) Only

(3) (A, (B) & (C) Only
(4)  (A), (B), (D) & (E) Only

Options :

92090638245. 1
92090638246. 2
92090638247. 3
92090638248. 4

Question Number : 62 Question Id : 9209069680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEAGL &3 § Fel IeATIH B Il 2laTsd e (W) I B 8| HEl Sl S TEei-)

(A) TEET gHHA (I9) T el 39T 9T U Es BT 2l
(B) s T T YR T (W) B
(C)  2TETET F1 F9E YT 97 FZ9EH e6hd (T9) BT 2

(D) el ZXETEA Ushleh! A1 |g=wil &l Hahal &
(E) TETEA &1 IHETEH Je1ge!l Sl o g1 2Tl & 31T gaehal (J9) Sl o1 3cT9H Hal 2|

= feu o fawewl ® § = 3@ 1 939 Hifa
() % (A), (B), (O) 3 (D)

(2)  Fad (A), (B), (C) 3 (E)

(3) = (A), (B) I(C)

(4) = (A), (B), (D) 3R (E)

Options :

92090638245. 1
92090638246. 2
92090638247. 3
92090638248. 4

Question Number : 63 Question Id : 9209069681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One among the following is not the physical defect of gravity drainage system.Identify
the same.
(1)  Quick dispossal of surface water
(2) Easy to clean and maintain
(3)  Failure to lower the water table to an adequate depth
(4) Ease of constnetion and layout
Options :
92090638249. 1
92090638250. 2

92090638251. 3
92090638252. 4

Question Number : 63 Question Id : 9209069681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

= O | FE TF THad el JuTel &1 Gifds g T8 81 39 TEEn)

(1) 9-T8 9 &l o e

(2) | H qUT FC W@ § ghawn

(3) A TEUE T HIH Foiedl Bl W w § AGHA
(4) Tmto qen sifi=me o g

Options :

92090638249. 1
92090638250. 2
92090638251. 3
92090638252. 4

Question Number : 64 Question Id : 9209069682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements from following

(A)  Unit hydrographs should be used for basin larger than 5000km?
(B) The period of surface runoff is different for unit storms of different intersity.

(C) The base flow of surface streams is the effluentseepage from the drainage
basin.

(D)  The best unit duration is about one fourth of the basin lag.

Choose the correct answer from the options given below :

(1)  (A), & (B) Only
(2)  (B), &(C) Only
(3) (C), & (D) Only
(4) (D), & (A) Only

Options :

92090638253. 1
92090638254. 2
92090638255. 3
92090638256. 4

Question Number : 64 Question Id : 9209069682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FfcTiad § 9 |81 FUA1 1 999 iU

(A)
(B)
(C)
(D)

5,000 foh.#1." & e Z1f1 2 T SoTE wgE B SiE
ferfi= ieran < 3ohTS FRTEE & Y58 =18 i Aty fm-fie g 2
U3 YR T AP FA18 F9AIE F1101 § afg-wrE g g gl
ZIT0T =T 1 o9 Ush S191S Ha953 S5 340 gl

e few v fawedi § @ w8 I &1 w99 Hifsw

(1)
(2)
(3)
(4)

Fae (A) 3 (B)
Fae (B) 31 (C)
THad (C) 3 (D)
et (D) 3 (A)

Options :

92090638253. 1
92090638254. 2
92090638255. 3
92090638256. 4

Question Number : 65 Question Id : 9209069683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with Last IT :

(A)
(B)
(©)

D)

List I List II
Pump noisy or vibrates ()  Wrong direction of rotation

Pump reqires more power  (II) Bent shaft

Not enough water (III) Misalignment
Delivered
Stuffing box leakage (IV) incorrect packing

Choose the correct answer from the options given below :

(1) (A)-0), B)-(D), (C)-(IV), (D)-(1)

(2) (A, B)-(IV), (C)-(ID), (D)-(1y

(3 A0, B)-(I), (C)-(), (D)-(IV)

(4 (A)-(V), B)-(1), (C)-(), D)-(ID)
Options :

92090638257. 1
92090638258. 2



92090638259. 3
92090638260. 4

Question Number : 65 Question Id : 9209069683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H-1 % |y g 11 &1 faem i

g1 111

(A) THFA (T9) Hlegerdo (I) =oiF Fi 7Tea fem
AT HIEHH B 2l

(B) e W9 &I s wfEd (1) 937 & g9

=T IEvEHT
(C) 39FH I Hifgq (111) 717 H @
(D) W ufem fama (IV) 7Tt Hepetd

g few o famedi 9 & W& I =1 =1 Hifaw

(1)  (A)-(D), (B)-(ID), (C)-(TV), (D)-(I1I)
(2)  (A)-(IID), (B)-(IV), (C)-(IL), (D)-(I)
(3)  (A)-ID), (B)-III), (C)-(D), (D)-(IV)
(4)  (A)-(IV). (B)-(D), (O)-(I11), (D)-(IT)

Options :

92090638257. 1
92090638258. 2
92090638259. 3
92090638260. 4

Question Number : 66 Question Id : 9209069684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

List I Last 11
(A) Coupled () Axis of rotation
(B) Multistage (IT) Method of drive
(C) Non-clog (III) No. of stages
(D) Vertical direction (IV) Impeller type

Choose the correct answer from the options given below :

(1) Q- B)-(I, (C)-(V), (D)-()
(2) (A, (B)-(V), (C)-(1), (D)-(IN)
(3) (A, (B)-(), (C)-(11), (D)-(IV)
(4)  (A)-(V), B)-(I), (C)-(), D)-(Ih)

Options :

92090638261. 1
92090638262. 2
92090638263. 3
92090638264. 4

Question Number : 66 Question Id : 9209069684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T=r-1 % a1y g=h-11 &1 faem Fifa -
gi-1 11
(A) FfEa @ =UF T 3=
(B) =g=lt (I1) w=Tem i Tgfa
(C) =y (I11) <ot <6t dean
(D) F@ER (IV) &9+ TR

= few v famweqi § & w8 I =1 =99 difsu

() (A)-ID, (B)-(IID), (C)-(AV), (D)-()

(2)  (A)-(ID), (B)-(IV), (C)-(D), (D)-(1L)

(3)  (A)-(D), (B)-(II), (C)-(11I), (D)-(IV)

(1) (A)-IV), (B)-LD), (O)-(D, (D)-(1D
Options :

92090638261. 1
92090638262. 2



92090638263. 3
92090638264. 4

Question Number : 67 Question Id : 9209069685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The recommended thickness of concrete lining in canals should not be less than

(1) 10.0 em. (2) 6.0cm.
(3 5.0 em. (4) 3.5 cm.
Options :

92090638265. 1
92090638266. 2
92090638267. 3
92090638268. 4

Question Number : 67 Question Id : 9209069685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& B whehle AT T SWEa BeE & & 7@ e =ney
(1)  10.0 &, (2) 6.0 3,
(3)  5.09H, (4) 3.5 5.

Options :

92090638265. 1
92090638266. 2
92090638267. 3
92090638268. 4

Question Number : 68 Question Id : 9209069686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find correct sequence of processes occurring in hydrology.

(A)  Infiltration

(B) Rainfall

(C) Surface Runoff
(D) Lateral flow

(E)  Deep Percolation

Choose the correct answer from the options given below :

(1) (A, B). (). (D), (E)
(2 (O (A (B). (D), (E)
(3 (B, A), (©). (D), (E)
4)  (C), (D), (E), (B), (A)

Options :

92090638269. 1
92090638270. 2
92090638271. 3
92090638272. 4

Question Number : 68 Question Id : 9209069686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Siel fasi o afed wfsmansii =1 w2l %u 719 &L

(A) 3= e
B) 3Ffe

(C) ==

(D) wifed= waTE

(E) 780 #9839

= feu e fahedi 4 € HE I #1999 HiaC
(1) @), B), (C), D), (E)
2 (O, (A), (B), (D), (E)
3 (B, W), (), D), (E)
(4)  (C), (D), (E), (B), (A)
Options :

92090638269. 1
92090638270. 2



92090638271. 3
92090638272. 4

Question Number : 69 Question Id : 9209069687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Soil- Plant-Water relationship governs the health of crop. The main factors are

(A) Water absorption
(B) Infiltration
() Water conduction & Translocation

() Transpiration

Choose the correct answer from the options given below :

(1) (A), (B), (C) Only
() (B). (C), (D) Only
(3)  (A), (C), (D) Only
(4)  (A), (B), (D) Only

Options :

92090638273. 1
92090638274. 2
92090638275. 3
92090638276. 4

Question Number : 69 Question Id : 9209069687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



He-qIgY -l HEEY HEA1 o T HI HEEE Fd @ 99 379 E -

(A) T 3=

(B) ¥4 WeA
(C) e =TeH U9 B
(D) ST

Fr feu o famedt # © wE I 1 =T i
(1) = (A), (B) 3 (C)
(2) ae (B), (C) 3R (D)
(3) %= (A), (C) 3R (D)
(4) %= (A), (B) 3R (D)

Options :

92090638273. 1
92090638274. 2
92090638275. 3
92090638276. 4

Question Number : 70 Question Id : 9209069688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Step involved in On-farm development are listed below. One is not the correct step of on-farm
irrigation system design. Identify the same.

(1) Land grading and shaping

(2) Field layout for irrigation & drainage channels.
(3) Lining of water courses
i(4) Salinity control of irrigation water

Options :

92090638277. 1
92090638278. 2
92090638279. 3
92090638280. 4

Question Number : 70 Question Id : 9209069688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ATT-1d e & =wr il g A= < S B S ¥ v AA-w EE1g et & 9y &5
HEl =TT T8 21 39 TTed =0T 1 994 i

(1) o Javran a91 A
(2) To=r8 & fou $ies sifufa=mm qun Sof = =1 an

(3) e AW W IR
(4) To=E 9 &1 wgvmT e

Options :

92090638277. 1
92090638278. 2
92090638279. 3
92090638280. 4

Question Number : 71 Question Id : 9209069689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The funnel diameter of Symon’s rain gauge is

(1) 10.5 cm. (2) 11.5cm.
(3] 12.5 cm. (4) 13.5 cm.
Options :

92090638281. 1
92090638282. 2
92090638283. 3
92090638284. 4

Question Number : 71 Question Id : 9209069689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TIEHA % TUTAT 1 HT = 2l

(1) 10.5 &1, (2) 11.5 ®.
(3) 12.5 9.1, (4) 13.5 &1
Options :

92090638281. 1
92090638282. 2
92090638283. 3



92090638284. 4

Question Number : 72 Question Id : 9209069690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The absorption of salts by plants involves movement of ions from roots to Xylem.
Identify the correct statements.

(A) Xylems help in transloction of nutrients.

(B The kind and amount of salt absorption vary according to plant species.

(C) Root extension is an important function in ion absorption.

(D)  salt concentration of xylem increases from roots to shoots.

Choose the correct answer from the options given below :

(1) A, B & D Only
(2) A, B & C Only
(3) B, C & D Only
(4) A,Cé& D Only
Options :
92090638285. 1
92090638286. 2

92090638287. 3
92090638288. 4

Question Number : 72 Question Id : 9209069690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YT = AT T 1 SN TS H G (JEEH) T AEAT o HaoH i SAEed il gl
TE AT 1 =TI it

(A) TE 9T % TIHIE0 T HEEAT Fld 2

(B) 1Y WIfd 3 AR SE01 A9l &1 W 3R gl § fafauar gt )

(C) AW FASEEY § TSI %1 JHR T Tgwaqy Y 2|

(D) @F 1 @@ HIEW T8I ° a1 1 AR Jig FaT 2

Fie feu u famedl § 9 9 I =1 999 S
(1) == (A), (B) 3R (D)
(2) = (A), (B) 3R (C)
(3) =e (B), (C) 31 (D)
(4) %= (A), (C) 3 (D)

Options :

92090638285. 1
92090638286. 2
92090638287. 3
92090638288. 4

Question Number : 73 Question Id : 9209069691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Underground pipe line systems have some important structures as listed below.
Which one is not a part of it?

(1) Pump stand (2) Air vent
(3) End plug (4) Venturi
Options :

92090638289. 1
92090638290. 2
92090638291. 3
92090638292. 4

Question Number : 73 Question Id : 9209069691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fiTa 9IET @A YO Sl 9 TEEUl S e gEEg 61 T3 2| T § $iH 55 Jore
1 Th W TE 87

(1) el 3aMl (T9s) (2) = Fem (Taw de)
(3) == =E (U8 W) (4) a=i
Options :

92090638289. 1
92090638290. 2
92090638291. 3
92090638292. 4

Question Number : 74 Question Id : 9209069692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The suction head of the centrifugal pump commonly ranges up to—

(1) 10 m (2) Bm
(3) 6 m (4) 4m

Options :

92090638293. 1
92090638294. 2
92090638295. 3
92090638296. 4

Question Number : 74 Question Id : 9209069692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A= 99 & JH 39 FH TE THEG: & Bl gl
(1) 10 4. (2) 8.

(3) 6 . (4) 4 i,
Options :

92090638293. 1
92090638294. 2
92090638295. 3
92090638296. 4

Question Number : 75 Question Id : 9209069693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List [ with List IT :
List [ List IT
(A)  Snow, hail (I} Forms of precipitaion
(B) Hydrologic cycle (II' Law of conservation of matter
(C) Hydrology (I} Deals with hydrologic eycle
(D) Hydrological equation (IV) Water transfer cycle

Choose the correct answer from the options given below :

(1) (A)-(V), B)-(ll), (C)-(1), (D)-(I1y
(2) (A, (B)-(IV), (C)-(ID), (D)-(lIT)
(3 (A, (B)-(V), (C)-(l), (D)-(11)
(4) (A, (B)-(I), (C)-( IV), (D)-(ly

Options :

92090638297. 1
92090638298. 2
92090638299. 3
92090638300. 4

Question Number : 75 Question Id : 9209069693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 % |1y g1 11 &1 foee i
g1 11
(A) &%, 3en (1) =99 % =9
(B) veifaeH gt wF (1) werd weem & fam
(C) o= fagH (I11) ST =5 | T A3

(D) Tl dsAieh FHTHROT (IV) ST EAHIa0 =5k

= few v fawedi § @ T I =1 599 Hifu

() (A)-aAV), (B)-(1I), (C)-(D), (D)-(1T)
2 A)-), (B)-(IV), (C)-(I), (D)-(I1T)
(3 (A)-(), (B)-(IV), (C)-(I1D), (D)-(IT)
(4)  (W)-(D), B)-(I), (C)-(AV), (D)-(II)

Options :
92090638297. 1



92090638298. 2
92090638299. 3
92090638300. 4

Question Number : 76 Question Id : 9209069694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The famous Darcy Equation for estimation of flow velocity across a cross section is
given below:- (V = ki)

Where V 1s velocity of flow , K coefficient of hydraulic conductivity and 1 is the
hydraulic grndient. The dimensions of ‘K’ is

(1) LTz = LT
(3) LT (4) L2T2
Options :

92090638301. 1
92090638302. 2
92090638303. 3
92090638304. 4

Question Number : 76 Question Id : 9209069694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frelt e Wi & warg 9 &% QEHeH & o afag e e = fean w2l

v=khi v=TdT8 & I, k=TAAAE ARl HT F a9 = FIENAd J9odl &, & H
A 4l
O |er?] @ |er]
@) |er @) |2
Options :

92090638301. 1
92090638302. 2
92090638303. 3
92090638304. 4

Question Number : 77 Question Id : 9209069695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The least efficient method of irrigation is-

(1) Check basin irrigation {(2) Sprinkler irrigation

(3 Sub-surface Drip irrigation {(4) Drip irrigation

Options :

92090638305. 1
92090638306. 2
92090638307. 3
92090638308. 4

Question Number : 77 Question Id : 9209069695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

férams i wew =0 Hyern g fof 2

(1) = 3t &= (2) forwer &=
(3) Y T 2954 = (4) 2T Ta=r
Options :

92090638305. 1
92090638306. 2
92090638307. 3
92090638308. 4

Question Number : 78 Question Id : 9209069696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The shape of the recession limb of a hydrograph depends on

(1) Storm charateristics only {(2) Basin charateristics only

(3) Base flow only {4) Basin as well as storm charateristics

Options :

92090638309. 1
92090638310. 2
92090638311. 3
92090638312. 4

Question Number : 78 Question Id : 9209069696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Torelt ST & ATTHT I T HHA W4T T B

(1) Fac FETaE SATes (2) <haer gl Frfiersmr
(3) el g WaTE (4) vt & Ty # WY FEEE Afaean
Options :

92090638309. 1
92090638310. 2
92090638311. 3
92090638312. 4

Question Number : 79 Question Id : 9209069697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Controlling soil salinity and alkalinity through subsurface leaching of salts requires.

(1) High water table upto 1m (2) Low water table upto 1.5 m
(3 More than 1.5 m upto 2.0 m (4) More than 2.0 m
Options :

92090638313. 1
92090638314. 2
92090638315. 3
92090638316. 4

Question Number : 79 Question Id : 9209069697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A % AGHE HEAEH % ATEE § §g dEudl 3R SEEal & WA &g SEvEashal el
2| 99 HEl 391 &1 934 Hiftau|

(1) 3= Yool TR 1 Hi. 7

(2) = qEa =W 1.5 .

(3) 1.5 ™. & Hfus 2.0 ft. 9% Yot T

(4) 2.0 1. ¥ HieF yFa w1

Options :

92090638313. 1
92090638314. 2
92090638315. 3
92090638316. 4



Question Number : 80 Question Id : 9209069698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A unit hydrograph has one unit of

(1) The time base of direct runoff (2) Rainfall duration
(3) Peak discharge (4) Direct runoff
Options :

92090638317. 1
92090638318. 2
92090638319. 3
92090638320. 4

Question Number : 80 Question Id : 9209069698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et 5h1g wIoE | %1 TH 05 BT 3
(1) We& 918 &1 999 349N (2) =91 3afy
(3) Tra yaEm® (4) w9 9
Options :

92090638317. 1
92090638318. 2
92090638319. 3
92090638320. 4

Question Number : 81 Question Id : 9209069699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In homogeneous and isotropie soils, the hydraulic conductivities is directions, x, v, and z have
the relationship ( Find the correct one )

(1) K_T = K.I_ ?‘—'K_q (2) KI = K = KJ
@) K =K =K, 1) K #K #K
Options :

92090638321. 1
92090638322. 2
92090638323. 3
92090638324. 4



Question Number : 81 Question Id : 9209069699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEA 3R FEHEd gEistl H, x, y 3R z femisl § Jegdl Femaisi § g9 g6 2
(HEl I 1 Uel TEE) )

(1) ke=k, 2k, (2) ke 2k, =k,

=k

.
i

3) k. =k

¥ (4) ky 2k, 2k,

Options :

92090638321. 1
92090638322. 2
92090638323. 3
92090638324. 4

Question Number : 82 Question Id : 9209069700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The percentage of total quantity of water in the world that is fresh water is

(1) 3% (2) 6%
(3) 9% 4y 12%
Options :

92090638325. 1
92090638326. 2
92090638327. 3
92090638328. 4

Question Number : 82 Question Id : 9209069700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fava o 5e &t ol w1 & fohaan gfawra reravrae 87

(1) 3% (2) 6%
(3) 9% (4) 12%
Options :

92090638325. 1
92090638326. 2
92090638327. 3



92090638328. 4

Question Number : 83 Question Id : 9209069701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The problem of rising water table due to non-availability of clear outfall and low soil
permeability can be solved easily by—

(1) Surface drainage system (2) Sub-Surface drainage
(3) Leaching of salts (4) Vertical drainage
Options :

92090638329. 1
92090638330. 2
92090638331. 3
92090638332. 4

Question Number : 83 Question Id : 9209069701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OIS qeM 1 ITereadl R e g8 TS & HR0 AR ol WL T S
foreer gm BT =i S TRl 27

(1)  Y=W & T (2) eae 9 FwE
(3) wmEv =1 femeE (1) e T
Options :

92090638329. 1
92090638330. 2
92090638331. 3
92090638332. 4

Question Number : 84 Question Id : 9209069702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The size of soil partides, which are non erodible by wind is

(1) Z0.25mm (2) 0.25-0.50 mm
(3) 0.50-1.0 mm {4) =1 mm
Options :

92090638333. 1



92090638334. 2
92090638335. 3
92090638336. 4

Question Number : 84 Question Id : 9209069702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y % G FARGAT HT F&T H & IART HHA BT B

(1) <o0.25 figd. (2) 0.25-0.50 fa .
(3)  0.50-1.00 fa 4. (4) >1.00 fad
Options :

92090638333. 1
92090638334. 2
92090638335. 3
92090638336. 4

Question Number : 85 Question Id : 9209069703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The major disadvantages of earthen canals are-

(A)  Excessive seepage losses

(B) Favourable canditions for aquatic plants
(C) Low water velocity

(D)  Difficult to burrowing

(E) Low annual maintenance

Choose the correct answer from the options given below :

(1) A, Bé&DOnly
(2) A B&COnly
(3) B, C & D Only
(4) C,D & A Only
Options :
92090638337. 1
92090638338. 2

92090638339. 3
92090638340. 4



Question Number : 85 Question Id : 9209069703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U &l i qGH Fhiga JiefaEr § -
(A)  rfus T wifat
(B) efta gl & fou sqed sraen
(C) T 5= am

(D) Wars § g
(B) = arfiies s1qeem

e feu mu fa=eui § 9 @E 39 %1 =9 Fifaw
(1) == (A), (B) 3R (D)
(2) Faa (A), (B) 31 (C)
(3) %=« (B), (C) 31 (D)
(4) = (C), (D) 3R (A)

Options :

92090638337. 1
92090638338. 2
92090638339. 3
92090638340. 4

Question Number : 86 Question Id : 9209069704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the following is not a wind erosion control measure, Identify the same.

(1) Wind breaks

(2) Brush wood dams

(3) Shelter-belts

(4) Good vegetative cover on the soil surface
Options :
92090638341. 1
92090638342. 2

92090638343. 3
92090638344. 4



Question Number : 86 Question Id : 9209069704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fr=forfiga @ & =9 & adig srwer = gfaa 58 2, 38 gt

(1) =g w1 (2) %= FTs 9y
(3) IS &4 (4) T I8 T I THEAHTT=Ie
Options :

92090638341. 1
92090638342. 2
92090638343. 3
92090638344. 4

Question Number : 87 Question Id : 9209069705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ :  Parshall Flume used to measure the discharge in an open

channel, works on the critical flow principle.

Statement II  :  Successful operation of parshall flume depends upon correct

selection of size and proper setting of the flume.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement I1 are true
(2) Both Statement [ and Statement I are false
(3) Statement [ 1s true but Statement 11 1s false

(4) Statement [ is false but Statement Il 1s true

Options :

92090638345. 1
92090638346. 2
92090638347. 3



92090638348. 4

Question Number : 87 Question Id : 9209069705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T wu feumu & -

FuT1: T G 9 § e & A3 % e 9l e % =@ R T S wifas
waTE fagr W %" = 2

FuF 11 : HFAaY J=ied 99T Fold, FI9 @ 36N & HEl 994 3R 36 agfad =
T i =t B

3T HIA o e H, A= feu 7u faswed § § qa9 39gH I 1 944 Hifag :

() =% 1 30 113 w2
(2) &Y 1 3R I EH Ted 2
(3) @Y 198 8, v %9 11 7Teid 2
(4) w1 7o 2, wiferd weH 1158 2

Options :

92090638345. 1
92090638346. 2
92090638347. 3
92090638348. 4

Question Number : 88 Question Id : 9209069706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hydraulic conductivity of a porous medium may change due to-

(A)  Entrapped air in pore space

(B) Nature and amount of exchangeable cations
(C) Heavy strom and soil displacement

(D)  Slope of the water table

(E) Hydraulic Head

Choose the correct answer from the options given below :

(1) A, B&C Only

(2) B, C & D Only

(3) C,D & E Only

(4) A,D & E Only
Options :

92090638349. 1
92090638350. 2
92090638351. 3
92090638352. 4

Question Number : 88 Question Id : 9209069706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

form mw & Ty TTem i Feigel Srershal TiaEfda & wehdl 27
(A) T HH O 99

(B) Tafa wme it gFia 3w

(C) il sigmEE 3R ga1 faeam

(D) Y& T H 2

(E) <ieTgdl i

e feu o faweql @ § T8 3 1 999 it
(1) = (A), (B) 3 (C)
(2) e (B), (C) 3R (D)
(3) %=« (C), (D) 3R (E)
(4) == (A), (D) 3R (E)

Options :
92090638349. 1
92090638350. 2



92090638351. 3
92090638352. 4

Question Number : 89 Question Id : 9209069707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following component of hydrograph contains the peak flow.

(1) Rising limb (2) Crest segment
(3) Recession limb (4) Crest segment and rising limb
Options :

92090638353. 1
92090638354. 2
92090638355. 3
92090638356. 4

Question Number : 89 Question Id : 9209069707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T &1 Tafefa ges fimgt var =1 sA-afdaswe == &

(1) 3R 3 (2) 7 @S
(3) T A (4) 1 @S IR AWE I
Options :

92090638353. 1
92090638354. 2
92090638355. 3
92090638356. 4

Question Number : 90 Question Id : 9209069708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  Thornthwaite and Blaney Criddle methods are quite popular to

estimate evapotranspiration rates while irrigation planning

Statement I1 :  However, the Penman-Monteith method is not as accusrate as

above two methods.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement Il are false
(3) Statement I is true but Statement 11 is false
(4) Statement 1 is false but Statement 11 is true

Options :

92090638357. 1
92090638358. 2
92090638359. 3
92090638360. 4

Question Number : 90 Question Id : 9209069708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g wya few T E

w1 To=E Faee & 999 adicgsa o & 3hod °§ 972 92 3 = fefee vafaat
Tiv=g & Sl £

FUA 11 : FTif GHA i3y TG0 99 GH1 TGl ® SHl TEE T8l el
ITRE HLH o ATk °, 41 fou mu fowedi § 9 g99 3ugwE I #1994 Hifau

(1) =% 1 3R A 981 &
(2) &Y 1 3R I gH 7od 2
(3) HUT 1 HE &, oifeha &9 11 7Tod 8
(4) FU7 174 8, wifed wuA [ 98 8

Options :

92090638357. 1
92090638358. 2
92090638359. 3
92090638360. 4

Question Number : 91 Question Id : 9209069709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRevines is the advanced stage of which erosion?

(1) Gully (2) Stream bank
(3 Rill (4) Splash
Options :

92090638361. 1
92090638362. 2
92090638363. 3
92090638364. 4

Question Number : 91 Question Id : 9209069709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TErT form 3rwes i 399 e 87
(1) T (2) €W e
(3) &z @i (4) B



Options :

92090638361. 1
92090638362. 2
92090638363. 3
92090638364. 4

Question Number : 92 Question Id : 9209069710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements -

Statement I :  Sprinkler irrigation system is appropriate for soils having high

infiltration rate.

Statement I  : Sprinkler irrigation system i1s most appropriate method for using

galine/ Salt affected water.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement I are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ is true but Statement 11 is false

(4) Statement [ is false but Statement Il is true

Options :

92090638365. 1
92090638366. 2
92090638367. 3
92090638368. 4

Question Number : 92 Question Id : 9209069710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A g e few e E

HoA 1:  I== I Sed arell gey &g [orwer fémnd wefa wqfaa 21
FY [ : aviE /o= 991faa Sl & 940 &4 (Cishen (= 1gfa aaifas 39ga 2

I FHYF & A °, = for mu fawedi § § w99 I9gE I H 991 Fif

(1) =9 [ 3T I eH wdt &
(2) YT I AR I ST 7Teid £
(3) Y 1 HE B, o 99 11 7T 8
(4) =9 17w 8, oifed %o 11 581 &

Options :

92090638365. 1
92090638366. 2
92090638367. 3
92090638368. 4

Question Number : 93 Question Id : 9209069711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose correct statements about hydrograph and its components.

(A) Rising limb of hydrograph is also called as concentration carve.
(B) Recession limb represents the withdrawal of water from storage
(C)  Crest segment contains peak flow

(D)  Hydrograph plot 15 cumulative discharge versus time

Choose the correct answer from the options given below :

(1) A, B&D Only
(2) B,C&DOnly
3) A, B&COnly
(4) D,C & A Only
Options :
92090638369. 1
92090638370. 2

92090638371. 3
92090638372. 4



Question Number : 93 Question Id : 9209069711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T TS IHh Hehi o @K H TEl YA B 541 Hitag

(A)  ToIRE T A A7 T98 gg-Fdio g% W Fa1 9. 2
(B) 3WTHA 30 HUEW ® o i At w1 e e 2|
(C) % @ Frat yaR -l & &l

(D) FonE = G919 94 HHT 1 3ifhd = 2

= feu o faseui @ § o 3@ %1 999 Hifae .
(1) == (A), (B) 31 (D)
(2) ¥ (B), (C) 3 (D)
(3) =E4 (A), (B) 3R (C)
(4) == (D), (C) 3R (A)

Options :

92090638369. 1
92090638370. 2
92090638371. 3
92090638372. 4

Question Number : 94 Question Id : 9209069712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement I : Tiles of good quality, resistant to deterioration from freezing & thawing

are desirable.

Statement 1 :  Strong and dense tiles are undesirable for better drain performance.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are true

(2) Both Statement I and Statement 11 are false

(3) Statement I is true but Statement 11 is false
i(4) Statement [ is false but Statement 11 is true
Options :

92090638373. 1
92090638374. 2
92090638375. 3
92090638376. 4

Question Number : 94 Question Id : 9209069712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 51 %y feg T E
FY4 1:  I90 OE Al @9 (2Eed) i fedfives 3 em & fasla fatd 8 % s
- & 2

FuF 11 ; SEat Ui HeTe &q T9ed AR 994 TUS (IEeH) IESAE B £
ITRE Y o ATerah °, 1 fou mu fowedl § 9 999 39gE I H1 F99 HITAC

(1) %4 1 3R 11 EHi 541 &
(2) &Y 1 3R 11 2F 7o 2
(3) FUT 1 TE &, e %47 11 7e1d §
(4) w17 2, e ®ea [ 521 8

Options :



92090638373. 1
92090638374. 2
92090638375. 3
92090638376. 4

Question Number : 95 Question Id : 9209069713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A plot between rainfall intensity vs time is called as

(1) Isohyet (2) Mass curve
(3)  Hydrograph (4) Hyetograph
Options :

92090638377. 1
92090638378. 2
92090638379. 3
92090638380. 4

Question Number : 95 Question Id : 9209069713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U el &1 HEF & T AToiE HeEddl &:

(1) EHaSr &@n (2) FEd 9%
(3) TomE (4) BTEEETE
Options :

92090638377. 1
92090638378. 2
92090638379. 3
92090638380. 4

Question Number : 96 Question Id : 9209069714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements ;

Statement [ :  Construction cost of open ditch drain is lower as compared to plastic

pipe drains now a days.

Statement 11 :  Construction of mole drain is relatively cheaper than any other type of

drainage system.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are true
(2) Both Statement I and Statement 11 are false
(3 Statement [ is true but Statement I1 is falze

(4) Statement I is false but Statement II is true

Options :

92090638381. 1
92090638382. 2
92090638383. 3
92090638384. 4

Question Number : 96 Question Id : 9209069714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= &1 %o fgr U g

F 1 wawd e it S qaqn § gell @ santges $i i wmE e 21

Fo4 11 : Fvaed 9= & foru el gul 9R § 3Ehd die udiiessl &1 fHmfo aw
&Il 2

ITUE YA & ATes H, [ fou mu fawedi § ¥ w99 39w I H 99 HifAn

(1) =¥ 13 1A 98 8
(2) HYT 1 AR I ST 7Teid €
(3) =¥A 14l 2, wifehd %9 11 7era &
(4) ¥ 17 8, wifer e 11 5 8



Options :

92090638381. 1
92090638382. 2
92090638383. 3
92090638384. 4

Question Number : 97 Question Id : 9209069715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The tensiometer is used for

(1) Evaporation (2) Raimnfall
(3) Soil moisture (4) Evapotranspiration
Options :

92090638385. 1
92090638386. 2
92090638387. 3
92090638388. 4

Question Number : 97 Question Id : 9209069715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS -HTH 1 A feRafery faman s 27

(1) @ (2) g
(3) T I (4) aToH-ATS e
Options :

92090638385. 1
92090638386. 2
92090638387. 3
92090638388. 4

Question Number : 98 Question Id : 9209069716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(GGiven below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : When a channel has to cross a wide depression or where the road
surface lies close to the field surface, inverted siphons are used. They

require periodic cleaning as well.

Reasons (R):  Since the tank of siphon acts as the stilling basin, it slows down the

velocity of flowing water & retain the silt on the bottom.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) (A) is not correct but (R) is correct

Options :

92090638389. 1
92090638390. 2
92090638391. 3
92090638392. 4

Question Number : 98 Question Id : 9209069716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= &1 %2 for 70 B : vF AT YE (Assertion (A)) % w9 1 foifga & af g@u 3@ AW
(Reasons (R)) & ®9 7 :

SR (A) : 9 U gone Hi R fadivt 7 #1 Un w5 & @ 9w gss U d9 I
& fe fom w1 91 vfaeifim @ fawds aes =1 =@ fen s 81 3=
Taaeiiors b i smavasar &6l 2l

=0 (R) : FTh HEFRA F1 21 21 Zft & =9 °§ 1 a1 8, 98 T9Ead 9 & 1
I g AT & AT AT T Y] TR0 T 2|

IR Y & AR 1, Jid feu 70 g 5§ 96 I 1 994 Fifau

(1) (A) 37 (R) §F1 &= 8 3 (R), (A) Ft =i =qren 2

(2) (A) 3R (R) EHI 97 €, Sl (R), (A) 1 w1 =me 81 8
(3)  (A) @ &, wifeh (R) 318 &

(4)  (A) 39 8, wifT (R) 89 8

Options :

92090638389. 1
92090638390. 2
92090638391. 3
92090638392. 4

Question Number : 99 Question Id : 9209069717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term normal rainfall means

(1)  Average 12 years rainfall (2) Average 24 years rainfall
(3)  Average 30 years rainfall (4) Average 40 years rainfall
Options :

92090638393. 1
92090638394. 2
92090638395. 3
92090638396. 4

Question Number : 99 Question Id : 9209069717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qE g% #1579 B

(1) 12 =i =i 3iEd g (2) 24 =i i 3tEd i
(3) 30 =i =i 3Hd g (4) 40 =91 i 3HiEd e
Options :

92090638393. 1
92090638394. 2
92090638395. 3
92090638396. 4

Question Number : 100 Question Id : 9209069718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One 15 labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : Pumping in and pumping out tests provide data and information

about the draw down and yield capacity of the wells.

Reasons (R):  Hydraulic properties of the well such as hydraulic conductivity,
transmissivity and storage coefficient can be obtained by pumping

tests.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090638397. 1
92090638398. 2
92090638399. 3
92090638400. 4



Question Number : 100 Question Id : 9209069718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 &1 %Y QU T § : UF AfEEA (Assertion (A)) F ®9 H§ fofEa & a1 gEU 395 FAO
(Reasons (R)) HEIH :

AfReE (A) :  HaeHeheA (W0 §) 3 afecnwe (Wi anee) wliew g6 S gof
HY:TH AR Al GHal o J1 H 3AThel A =1 JeH Hid &l

=0 (R) : F9 F TeIge! [UEH TYT FoIgel Alcehdl, TOEAAl T HIE TN
T () wiEr % g aH ey s wehd

I YA & AT 1, A feu U fawen 0 @ w8 33 o ==1e Fifau

(1)  (A) 3R (R) g1 51 £ 3 (R), (A) i =&l =amen 2

(2) (A) 3R (R) 3H1 &3 2, ©ifsd (R), (A) 1 wel =are 741 2
(3) (A)EF B, i (R) 38 2

(4)  (A) HEH &, wf (R) &cd 2

Options :

92090638397. 1
92090638398. 2
92090638399. 3
92090638400. 4



